
1920 0301 202 R-30  -iDEN 1W-INDOOR-MODULAR 
SNo Level No. Type Description Qty. Location

1 1 1924 2137 414 ASSY PCB ASSY - OD4 - 800 - IDEN 1 J2,13,14 
2  2 2839 0002 100 CONN 4 PIN(2X2)MOLEX CONN (M) ST. PCB MNTD 3 R5,6,15,16,17,18,20,25,27,28 
3  2 2010 1021 303 CHR 1K,1/16W,5%,0603 10 C1,2,6,7,10,16 
4  2 2115 1051 410 CTNC 1MF 16V€10%,A 6 R24 
5  2 2010 2021 303 CHR 2K,1/16W,5%,0603 1 R3,4,19 
6  2 2010 4721 303 CHR 4.7K,1/16W,5%,0603 3 R21 
7  2 2010 6221 303 CHR 6.2K,1/16W,5%,0603 1 R7 
8  2 2010 7521 303 CHR 7.5K,1/16W,5%,0603 1 R30,31,32,33 
9  2 2010 1001 350 CHR 10E,1W,±5%,2512 4 R1,9,23,29 

10  2 2010 1031 303 CHR 10K,1/16W,5%,0603 4 C4 
11  2 2115 1061 412 CTNC 10MF, 16VÇ10%B 1 R11,12,14 
12  2 2010 1801 303 CHR 18E,1/16W,5%,0603 3 R2,8,26 
13  2 2010 2231 303 CHR 22K,1/16W,5%,0603 3 R22 
14  2 2010 3331 303 CHR 33K,1/16W,5%,0603 1 C14,15 
15  2 2114 1041 413 CHC 100KPF,10%,0603,16V 2 C3,5,17,18 
16  2 2118 1071 650 CEC CEC - 100MFD 16V 4 J1,6,10,RS1 
17  2 2821 0004 000 CONN 4 PIN SIP CONN (M) 4 Y2 
18  2 2786 0063 100 BPF BPF - FMJ 0815 MYA 18 MHz 1 Y1 
19  2 2786 0063 000 BPF BPF - FMJ 0860 MYA 18 MHz 1 CR2-5 
20  2 2607 0004 001 LED SMD LED-GREEN(1206) 4 LNA UL,DL,UL1,DL1 
21  2 2810 0008 000 CONN 8PIN ST 8MM (F) 2.54MM 4 J4 
22  2 2802 0014 000 CONN 14P IDC CONN.M (BOX HEADER) 1 J5,12 
23  2 2809 0002 000 CONN 2PIN BERG STICK (M) ST. 10MM 2 PADL,UL 
24  2 2843 0009 200 CONN DB9 CONN R/A (M) (FOR M.B.) 2 J8,9 
25  2 2821 0002 003 CONN 2PIN SIP CONN (M ) 2 J3 
26  2 2805 0002 000 CONN 96FULLEUROSTD(F)ST 1 CR1,6,7 
27  2 2301 0004 000 DIOD DIODE - 30BQ040 IR 3 U1,5 
28  2 2999 1005 000 IC LM2941S VOLT REGULT 2 U102,103 
29  2 2415 0001 005 IC MCT 2E PDIP06+C372+C349 2 CONN1,5,7,12 
30  2 2837 0020 000 CONN SMA (F) R/A PCB MNT. 4 TCXO1 
31  2 2779 0006 000 TCXO TCXO- 10MHz (7X5) 1
32  2 2837 0014 000 CONN CONN SMB (F) ST. SOCKET 8 CONN2,3,4,6,8,9,10,11 
33  2 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 1 L1 
34  2 2809 0003 000 CONN 3PIN BERG STICK (M) ST. 10MM 1 SW1 
35  2 3900 2137 450 PCB PCB - OD4 M.B. 1   

36 1 1923 1220 902 MOD CONV - 815 (IDEN) - 3.0 MHz UL V2 1   

37  2 1924 1220 914 ASSY PCB ASSY - CONV 800 IDEN UL 1   

38   3 2010 1021 303 CHR 1K,1/16W,5%,0603 3 R19,20,21 
39   3 2117 1021 443 CHC 1KPF 50V €10% 0603 5 C12,31,35,52,65 
40   3 2295 1012 302 CHCL 1UH,5%,1008 2 L9,10 
41   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 4 R2,4,46,47 
42   3 2010 1521 303 CHR 1.5K,1/16W,5%,0603 2 R11,13 
43   3 2114 5012 843 CHC 5PF,50V,€0.25PF,0603 5 C25,27,60,61,70 
44   3 2114 1011 343 CHC 100PF 50V ±5% 0603 21 C1,2,3,4,11,13,14,15,17,23,28,29,51,53,57,58,59,62,63,6 
45   3 2114 6812 343 CHC 6.8PF 50V +/-0.25%,0603 1 C55 
46   3 2114 3301 343 CHC 33PF 50V€5%,0603 1 C5 
47   3 2115 1061 412 CTNC 10MF, 16VÇ10%B 8 C16,22,24,36,37,40,50,68 
48   3 2010 1201 303 CHR 12E,1/16W,5%,0603 3 R6,14,26 
49   3 2010 1631 303 CHR 16K,1/16W, 5%,0603 3 R8,45,52 
50   3 2010 1801 303 CHR 18E,1/16W,5%,0603 3 R28,29,30 
51   3 2010 5101 303 CHR 51E,1/16W,5%,0603 6 R9,10,43,44,50,51 
52   3 2295 5632 302 CHCL 56NH,±5% 1008 3 L7,8,12 
53   3 2114 6801 343 CHC 68PF 50V€5%,0603 6 C6,7,9,30,32,43 
54   3 2295 5641 406 CHCL 5.6NH,600MA,5% 0805MD 2 L4,13 
55   3 2295 8232 302 CHCL 82Nh,5%,1008 4 L1,2,3,5 
56   3 2010 1011 303 CHR 100E 1/16W 5% 0603 1 R23 
57   3 2114 1041 413 CHC 100KPF,10%,0603,16V 6 C33,34,39,41,42,66 
58   3 2010 1511 303 CHR 150E, 1/16W, 5%, 0603 4 R33,34,35,36 
59   3 2010 2211 303 CHR 220E,1/16W,5%,0603 1 R24 
60   3 2010 2411 303 CHR 240E,1/16W,5%,0603 1 R22 
61   3 2010 3011 303 CHR 300E,1/16W,5%,0603 1 R37 
62   3 2010 4711 303 CHR 470E,1/16W,5%,0603 4 R5,7,25,27 
63   3 2295 4722 402 CHCL 470NH,€5%,1008 2 L6,14 
64   3 2010 9111 303 CHR 910E,1/16W,5%,0603 8 R1,3,17,18,48,49,55,56 
65   3 2922 0010 000 IC IC - Gain Block - ASG-201 3 U1,5,6 
66   3 2682 0003 500 MIXE IC - FREQ. MIXER MXB 2501-7H 1 MIXER-1,2 
67   3 2922 0005 000 IC IC-SGA 4586 - SOT86 2 U2,3 
68   3 2678 0147 002 VCO PLL(APL0745) 736-754 MHz 1 VCO MODULE 
69   3 2786 0023 001 BPF BPF - FMD 0815 EYA 18 MHz 2 Y1,2 
70   3 3900 0400 400 PCB JUMPER - PCB (L-25MM) 1 JUM_PCB 
71   3 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 1 J1 
72   3 3900 0222 900 PCB PCB - CONVERTOR 900 V2.0 1 PCB 
73  2 1184 0702 002 ASSY PCB ASSY - SAW 70/3.0 MHz 1   

74   3 2010 1801 303 CHR 18E,1/16W,5%,0603 1 R2 
75   3 2010 3011 303 CHR 300E,1/16W,5%,0603 2 R1,3 
76   3 2114 1001 343 CHC 10PF,50V,±5%,0603 1 SC2 
77   3 2295 3922 302 CHCL 390NH, 1008, 10% 2 SL2,5 
78   3 2784 1030 000 FILT SW 70 M/ 3.0 201106B 1 YF2 



79   3 2010 9111 303 CHR 910E,1/16W,5%,0603 2 R4,6 
80   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 1 R5 
81   3 2010 1511 303 CHR 150E, 1/16W, 5%, 0603 2 R7,8 
82   3 2010 3311 303 CHR 330E, 1/16W, 5%, 0603 1 R11 
83   3 2010 1021 303 CHR 1K,1/16W,5%,0603 2 R9,12 
84   3 2010 1821 303 CHR 1.8K,1/16W,5%,0603 1 R13 
85   3 2051 5011 300 VRC VAR.RES.500E SMD S.T. (SIDE TUNNG) 5.5MM M 1 VR10 
86   3 2295 1012 302 CHCL 1UH,5%,1008 1 L1 
87   3 2302 0017 000 DIOD HSMP3890 SOT23 1 CR1 
88   3 2117 1021 443 CHC 1KPF 50V ±10% 0603 3 C1,2,7 
89   3 2114 1041 413 CHC 100KPF ±10%,0603,16V 3 C3,4,5 
90   3 2114 1011 343 CHC 100PF 50V ±5% 0603 1 C6 
91   3 3220 2201 999 PCB PCB - SAW FLTR ASSY WITH CA6H POT 1   

93  2 3201 0010 251 PCB PCB - 8 PIN FILTER CONN. 1 CON1 
94  2 2809 0040 000 CONN 40 PIN BERG STICK (M) 20MM LONG 0.2   

96  2 4900 3005 999 ENCL ALU.ENCL - 5RG2 CONV TYPE-1 1   

97  2 2837 0030 000 CONN SMB(M) Bulk Head 2   

98  2 7101 0006 100 SCW &nbspPAN HEAD M2X10 PH SS 6   

99  2 7107 0028 300 SCW Pan Head M2X6 24   

100  2 7105 0050 000 SCW PAN HEAD M2X5 PH SS 2   

101  2 3900 0400 400 PCB JUMPER PCB 25MM 1   

102  2 2802 0025 008 COVR CONN COVER 8 HOLE 1   

103 1 1923 2220 902 MOD CONV - 860 (IDEN) - 3.0 MHz DL V2 1   

104  2 1924 2220 914 ASSY PCB ASSY - CONV 800 IDEN DL 1   

105   3 2010 1021 303 CHR 1K,1/16W,5%,0603 3 R19,20,21 
106   3 2117 1021 443 CHC 1KPF 50V €10% 0603 5 C12,31,35,52,65 
107   3 2295 1012 302 CHCL 1UH,5%,1008 2 L9,10 
108   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 4 R2,4,46,47 
109   3 2010 1521 303 CHR 1.5K,1/16W,5%,0603 2 R11,13 
110   3 2114 5012 843 CHC 5PF,50V,€0.25PF,0603 5 C25,27,60,61,70 
111   3 2114 1011 343 CHC 100PF 50V ±5% 0603 21 C1,2,3,4,11,13,14,15,17,23,28,29,51,53,57,58,59,62,63,6 
112   3 2114 6812 343 CHC 6.8PF 50V +/-0.25%,0603 1 C55 
113   3 2114 3301 343 CHC 33PF 50V€5%,0603 1 C5 
114   3 2115 1061 412 CTNC 10MF, 16VÇ10%B 8 C16,22,24,36,37,40,50,68 
115   3 2010 1201 303 CHR 12E,1/16W,5%,0603 3 R6,14,26 
116   3 2010 1631 303 CHR 16K,1/16W, 5%,0603 3 R8,45,52 
117   3 2010 1801 303 CHR 18E,1/16W,5%,0603 3 R28,29,30 
118   3 2010 5101 303 CHR 51E,1/16W,5%,0603 6 R9,10,43,44,50,51 
119   3 2295 5632 302 CHCL 56NH,±5% 1008 3 L7,8,12 
120   3 2114 6801 343 CHC 68PF 50V€5%,0603 6 C6,7,9,30,32,43 
121   3 2295 5641 406 CHCL 5.6NH,600MA,5% 0805MD 2 L4,13 
122   3 2295 8232 302 CHCL 82Nh,5%,1008 4 L1,2,3,5 
123   3 2010 1011 303 CHR 100E 1/16W 5% 0603 1 R23 
124   3 2114 1041 413 CHC 100KPF,10%,0603,16V 6 C33,34,39,41,42,66 
125   3 2010 1511 303 CHR 150E, 1/16W, 5%, 0603 4 R33,34,35,36 
126   3 2010 2211 303 CHR 220E,1/16W,5%,0603 1 R24 
127   3 2010 2411 303 CHR 240E,1/16W,5%,0603 1 R22 
128   3 2010 3011 303 CHR 300E,1/16W,5%,0603 1 R37 
129   3 2010 4711 303 CHR 470E,1/16W,5%,0603 4 R5,7,25,27 
130   3 2295 4722 402 CHCL 470NH,€5%,1008 2 L6,14 
131   3 2010 9111 303 CHR 910E,1/16W,5%,0603 8 R1,3,17,18,48,49,55,56 
132   3 2922 0010 000 IC IC - Gain Block - ASG-201 3 U1,5,6 
133   3 2682 0003 500 MIXE IC - FREQ. MIXER MXB 2501-7H 1 MIXER-1,2 
134   3 2922 0005 000 IC IC-SGA 4586 - SOT86 2 U2,3 
135   3 2678 0148 002 VCO PLL (APL0930)921-939 MHz 1 VCO MODULE 
136   3 2786 0023 000 BPF BPF - FMD 0860 EYA 18 MHz 2 Y1,2 
137   3 3900 0400 400 PCB JUMPER - PCB (L-25MM) 1 JUM_PCB 
138   3 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 1 J1 
139   3 3900 0222 900 PCB PCB - CONVERTOR 900 V2.0 1 PCB 
140  2 1184 0702 002 ASSY PCB ASSY - SAW 70/3.0 MHz 1   

141   3 2010 1801 303 CHR 18E,1/16W,5%,0603 1 R2 
142   3 2010 3011 303 CHR 300E,1/16W,5%,0603 2 R1,3 
143   3 2114 1001 343 CHC 10PF,50V,±5%,0603 1 SC2 
144   3 2295 3922 302 CHCL 390NH, 1008, 10% 2 SL2,5 
145   3 2784 1030 000 FILT SW 70 M/ 3.0 201106B 1 YF2 
146   3 2010 9111 303 CHR 910E,1/16W,5%,0603 2 R4,6 
147   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 1 R5 
148   3 2010 1511 303 CHR 150E, 1/16W, 5%, 0603 2 R7,8 
149   3 2010 3311 303 CHR 330E, 1/16W, 5%, 0603 1 R11 
150   3 2010 1021 303 CHR 1K,1/16W,5%,0603 2 R9,12 
151   3 2010 1821 303 CHR 1.8K,1/16W,5%,0603 1 R13 
152   3 2051 5011 300 VRC VAR.RES.500E SMD S.T. (SIDE TUNNG) 5.5MM M 1 VR10 
153   3 2295 1012 302 CHCL 1UH,5%,1008 1 L1 
154   3 2302 0017 000 DIOD HSMP3890 SOT23 1 CR1 
155   3 2117 1021 443 CHC 1KPF 50V ±10% 0603 3 C1,2,7 
156   3 2114 1041 413 CHC 100KPF ±10%,0603,16V 3 C3,4,5 
157   3 2114 1011 343 CHC 100PF 50V ±5% 0603 1 C6 
158   3 3220 2201 999 PCB PCB - SAW FLTR ASSY WITH CA6H POT 1   

160  2 3201 0010 251 PCB PCB - 8 PIN FILTER CONN. 1 CON1 
161  2 2809 0040 000 CONN 40 PIN BERG STICK (M) 20MM LONG 0.2   



163  2 4900 3005 999 ENCL ALU.ENCL - 5RG2 CONV TYPE-1 1   

164  2 2837 0030 000 CONN SMB(M) Bulk Head 2   

165  2 7101 0006 100 SCW &nbspPAN HEAD M2X10 PH SS 6   

166  2 7107 0028 300 SCW Pan Head M2X6 24   

167  2 7105 0050 000 SCW PAN HEAD M2X5 PH SS 2   

168  2 3900 0400 400 PCB JUMPER PCB 25MM 1   

169  2 2802 0025 008 COVR CONN COVER 8 HOLE 1   

170 1 1923 1330 219 MOD PA-ID-MC-813-30-15-01 1   

171  2 1924 1330 219 ASSY PCB ASSY - PA-ID-813-30-15 1   

172   3 2010 0000 303 CHR 0E,1/16W,±5%,0603 3 R16,32,81 
173   3 2010 1221 303 CHR 1.2K,1/16W,5%,0603 1 R6 
174   3 2010 1521 303 CHR 1.5K,1/16W,5%,0603 3 R9,68,65 
175   3 2010 1821 303 CHR 1.8K,1/16W,5%,0603 1 R1 
176   3 2010 1021 303 CHR 1K,1/16W,5%,0603 16 R38,39,41,46,49,50,52,55,59,60,61,63,71,73,77,78 
177   3 2010 2421 303 CHR 2.4K,1/16W,5%,0603 2 R2,10 
178   3 2010 2221 310 CHR 2.2K 1/8W 5% 1206 1 R7 
179   3 2010 2021 303 CHR 2K,1/16W,5%,0603 3 R74,79,80 
180   3 2010 3321 303 CHR 3.3K,1/16W,5%,0603 2 R17,11 
181   3 2010 3921 303 CHR 3.9K,1/16W,5%,0603 2 R62,40 
182   3 2010 4721 303 CHR 4.7K,1/16W,5%,0603 1 R70 
183   3 2010 1031 303 CHR 10K,1/16W,5%,0603 1 R47 
184   3 2010 1231 303 CHR 12K,1/16W,5%,0603 1 R33,L6 
185   3 2010 2231 303 CHR 22K,1/16W,5%,0603 1 R48 
186   3 2010 3331 303 CHR 33K,1/16W,5%,0603 1 R64 
187   3 2010 4731 303 CHR 47K,1/16W,5%,0603 1 R51 
188   3 2010 2012 303 CHR 2E,1/16W,5%,0603 2 R30,31 
189   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 1 R22 
190   3 2010 1001 303 CHR 10E,1/16W,±5%,0603 1 R19 
191   3 2010 1001 350 CHR 10E,1W,±5%,2512 3 R3,4,5 
192   3 2010 2701 303 CHR 27E 1/16W 5%, 0603 4 R12,13,14,15 
193   3 2010 5101 303 CHR 51E,1/16W,5%,0603 7 R27,28,29,37,56,57,58 
194   3 2010 1201 303 CHR 12E,1/16W,5%,0603 1 R72 
195   3 2010 4711 303 CHR 470E,1/16W,5%,0603 3 R53,75,76 
196   3 2010 1011 303 CHR 100E 1/16W 5% 0603 2 R35,36 
197   3 2010 2211 303 CHR 220E,1/16W,5%,0603 2 R8,66 
198   3 2010 7511 303 CHR 750E,1/16W, 5%,0603 1 R54 
199   3 2010 5111 303 CHR 510E,1/16W,5%,0603 1 R67 
200   3 2010 9111 303 CHR 910E,1/16W,5%,0603 5 R25,26,42,43,69 
201   3 2010 7501 303 CHR 75E, 1/16W, 5%,0603 1 R34 
202   3 2052 1021 001 VRC 1K SMD 1/4" W (MT) 2 VR1,5 
203   3 2051 5011 000 VRC VAR.RES.500E SMD 4.5xSMM(S.T) 5 VR2,3,4,6,7 
204   3 2114 1041 413 CHC 100KPF,10%,0603,16V 32 C3,6,43,45,46,49,53,55,59,60,64,67,69,70,71,73,76,77,78 
205   3 2114 3012 843 CHC 3PF 50V€0.25PF,0603 1 C31 
206   3 2114 3612 843 CHC 3.6PF 50V ±0.25PF,0603 1 C35 
207   3 2114 5012 843 CHC 5PF,50V,€0.25PF,0603 2 C95,38 
208   3 2114 1001 940 MLCC 10PF 50V±0.5PF,0805 4 C33,18,39,40 
209   3 2114 1801 343 CHC 18PF,50V,±5%,0603 3 C21,25,19 
210   3 2114 4701 940 MLCC 47PF ±.5 0805 50V 3 C8,13,32 
211   3 2114 1011 343 CHC 100PF 50V ±5% 0603 13 C23,27,28,29,44,47,52,54,63,72,75,89,91 
212   3 2114 2211 343 CHC 220PF,5%,0603,50V 2 C56,81 
213   3 2114 1010 343 CHC 7PF,50V,5%, 0603 2 C51,26 
214   3 2117 1021 443 CHC 1KPF 50V €10% 0603 4 C16,17,20,22 
215   3 2115 1051 410 CTNC 1MF 16V€10%,A 9 C7,14,15,48,50,68,74,82,92 
216   3 2118 1061 642 CEC CEC - 10MFD 35V 1 C58 
217   3 2115 1061 412 CTNC 10MF, 16VÇ10%B 6 C1,2,5,9,42,101 
218   3 2114 3612 843 CHC 3.6PF 50V ±0.25PF,0603 1 C35 
219   3 2115 1061 433 CTNC 10MF,35V,10%,D 1 C11 
220   3 2148 4701 980 MLCC MLCC - 47PF 500V, ±10 1 C34 
221   3 2148 1001 980 MLCC MLCC - 10PF 500V, ±10 3 C24,36,37 
222   3 2010 1811 303 CHR 180E,1/16W,5%,0603 0 R23,24 
223   3 2010 3301 303 CHR 33E,1/16W,5%,0603 1 R21 
224   3 2114 1041 340 CHC 100KPF50V ±5%0805 5 C4,10,12,61,62 
225   3 2118 1071 650 CEC CEC - 100MFD 16V 1 C57 
226   3 2118 1071 642 CEC CEC - 100MFD 35V 2 C65,66 
227   3 2295 1012 302 CHCL 1UH,5%,1008 2 L3,5 
228   3 2295 1022 512 CHCL 10NH,5%,1008 1 L2 
229   3 2295 5632 302 CHCL 56NH, 1008 2 L1,4 
230   3 2240 0120 000 CFB SMD FERITE BEAD 120E 3 FB1,4,5 
231   3 2962 0002 000 IC IC AD 8314 (ARM) J5A 2 U10,5 
232   3 2922 0003 000 IC IC - AH 312-S8G 1 U2 
233   3 2786 0023 001 BPF BPF - FMD 0815 EYA 18 MHz 1 YF1 
234   3 2325 0003 000 DIOD HSMS 2822 SOT-23 1 D2 
235   3 2657 1017 000 ISOL ISOLATOR-IL07BL(R) 0813 AAE 2 ISO1,2 
236   3 2809 0002 000 CONN 2PIN BERG STICK (M) ST. 10MM 1 JP1 
237   3 2999 1003 000 IC SMD LM 61CIM3 SOT-23 1 D1 
238   3 2999 1004 000 IC LM 2904M SO-8 4 U6,9,11,12 
239   3 2999 1004 500 IC LM2940 SMD IMP 5.0 V 1 U8 
240   3 2907 0077 005 IC IC NJM78L05A-SOT89 1 U1 
241   3 2360 0128 000 TRAN MMBT2222A 2 Q2,5 
242   3 2360 0138 000 TRAN MMBT3906LT1 SOT-23 2 Q1,3 



243   3 2922 0010 000 IC IC - Gain Block - ASG-201 2 U7,3 
244   3 3900 2330 250 PCB PCB - 30 DBM 900 1   

245   3 2835 0009 001 CONN DB9 (M) R/A PCB MNT.(FOR PA) 1 J4 
246   3 2351 0003 000 TRAN IRF4905 1 Q4 
247   3 2814 0004 100 CONN 4PIN (2x2) PWR R/A (M) CONN 1 J3 
248   3 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 1 JP2 
249  2 2360 0045 904 TRAN MRF 09045LR5 1 U4 
250  2 2837 0039 000 CONN CONN SMA(F) 4H 5MM PANEL MOUNT 2 J2,1 
251  2 7105 0008 100 SCW PAN M2.5X6 PH.SS 60   

252  2 7351 0002 100 WSHR PLAIN WASHER M 2.5 SS 25   

253  2 7107 0009 000 SCW PAN M2X8 PH SS 2   

254  2 4500 0503 000 SPCR TEFLON RING SPACER FOR PA 1   

255  2 2830 0003 000 JUP MINI U_LINK (F) BLUE 1   

256  2 7354 0005 000 SHEET INSULATION SHEET TO 220 1   

257  2 4900 3088 999 ENCL ALU. ENCL - PA 30 dBm (900) 1   

258  2 2114 1041 413 CHC 100KPF ±10%,0603,16V 1   

259 1 1923 2330 219 MOD PA-ID-MC-858-30-15-01 1   

260  2 1924 2330 219 ASSY PCB ASSY - PA-ID-858-30-15 1   

261   3 2010 0000 303 CHR 0E,1/16W,±5%,0603 3 R16,32,81 
262   3 2010 1221 303 CHR 1.2K,1/16W,5%,0603 1 R6 
263   3 2010 1521 303 CHR 1.5K,1/16W,5%,0603 3 R9,68,65 
264   3 2010 1821 303 CHR 1.8K,1/16W,5%,0603 1 R1 
265   3 2010 1021 303 CHR 1K,1/16W,5%,0603 16 R38,39,41,46,49,50,52,55,59,60,61,63,71,73,77,78 
266   3 2010 2421 303 CHR 2.4K,1/16W,5%,0603 2 R2,10 
267   3 2010 2221 310 CHR 2.2K 1/8W 5% 1206 1 R7 
268   3 2010 2021 303 CHR 2K,1/16W,5%,0603 3 R74,79,80 
269   3 2010 3321 303 CHR 3.3K,1/16W,5%,0603 2 R17,11 
270   3 2010 3921 303 CHR 3.9K,1/16W,5%,0603 2 R62,40 
271   3 2010 4721 303 CHR 4.7K,1/16W,5%,0603 1 R70 
272   3 2010 1031 303 CHR 10K,1/16W,5%,0603 1 R47 
273   3 2010 1231 303 CHR 12K,1/16W,5%,0603 2 R33,L6 
274   3 2010 2231 303 CHR 22K,1/16W,5%,0603 1 R48 
275   3 2010 3331 303 CHR 33K,1/16W,5%,0603 1 R64 
276   3 2010 4731 303 CHR 47K,1/16W,5%,0603 1 R51 
277   3 2010 2012 303 CHR 2E,1/16W,5%,0603 2 R30,31 
278   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 1 R22 
279   3 2010 1001 303 CHR 10E,1/16W,±5%,0603 1 R19 
280   3 2010 1001 350 CHR 10E,1W,±5%,2512 3 R3,4,5 
281   3 2010 2701 303 CHR 27E 1/16W 5%, 0603 4 R12,13,14,15 
282   3 2010 5101 303 CHR 51E,1/16W,5%,0603 7 R27,28,29,37,56,57,58 
283   3 2010 1201 303 CHR 12E,1/16W,5%,0603 1 R72 
284   3 2010 4711 303 CHR 470E,1/16W,5%,0603 3 R53,75,76 
285   3 2010 1011 303 CHR 100E 1/16W 5% 0603 2 R35,36 
286   3 2010 2211 303 CHR 220E,1/16W,5%,0603 2 R8,66 
287   3 2010 7511 303 CHR 750E,1/16W, 5%,0603 1 R54 
288   3 2010 5111 303 CHR 510E,1/16W,5%,0603 1 R67 
289   3 2010 9111 303 CHR 910E,1/16W,5%,0603 5 R25,26,42,43,69 
290   3 2010 7501 303 CHR 75E, 1/16W, 5%,0603 1 R34 
291   3 2052 1021 001 VRC 1K SMD 1/4" W (MT) 2 VR1,5 
292   3 2051 5011 000 VRC VAR.RES.500E SMD 4.5xSMM(S.T) 5 VR2,3,4,6,7 
293   3 2114 1041 413 CHC 100KPF,10%,0603,16V 32 C3,6,43,45,46,49,53,55,59,60,64,67,69,70,71,73,76,77,78 
294   3 2114 3012 843 CHC 3PF 50V€0.25PF,0603 1 C31 
295   3 2114 3612 843 CHC 3.6PF 50V ±0.25PF,0603 1 C35 
296   3 2114 5012 843 CHC 5PF,50V,€0.25PF,0603 2 C95,38 
297   3 2114 1801 343 CHC 18PF,50V,±5%,0603 3 C21,25,19 
298   3 2114 4701 940 MLCC 47PF ±.5 0805 50V 3 C8,13,32 
299   3 2114 1011 343 CHC 100PF 50V ±5% 0603 13 C23,27,28,29,44,47,52,54,63,72,75,89,91 
300   3 2114 2211 343 CHC 220PF,5%,0603,50V 2 C56,81 
301   3 2114 1010 343 CHC 7PF,50V,5%, 0603 2 C51,26 
302   3 2117 1021 443 CHC 1KPF 50V €10% 0603 4 C16,17,20,22 
303   3 2115 1051 410 CTNC 1MF 16V€10%,A 9 C7,14,15,48,50,68,74,82,92 
304   3 2118 1061 642 CEC CEC - 10MFD 35V 1 C58 
305   3 2115 1061 412 CTNC 10MF, 16VÇ10%B 6 C1,2,5,9,42,101 
306   3 2115 1061 433 CTNC 10MF,35V,10%,D 1 C11 
307   3 2114 1041 340 CHC 100KPF50V ±5%0805 5 C4,10,12,61,62 
308   3 2118 1071 650 CEC CEC - 100MFD 16V 1 C57 
309   3 2118 1071 642 CEC CEC - 100MFD 35V 2 C65,66 
310   3 2295 1012 302 CHCL 1UH,5%,1008 2 L3,5 
311   3 2295 1022 512 CHCL 10NH,5%,1008 1 L2 
312   3 2295 5632 302 CHCL 56NH, 1008 2 L1,4 
313   3 2240 0120 000 CFB SMD FERITE BEAD 120E 3 FB1,4,5 
314   3 2962 0002 000 IC IC AD 8314 (ARM) J5A 2 U10,5 
315   3 2922 0003 000 IC IC - AH 312-S8G 1 U2 
316   3 2786 0023 000 BPF BPF - FMD 0860 EYA 18 MHz 1 YF1 
317   3 2325 0003 000 DIOD HSMS 2822 SOT-23 1 D2 
318   3 2657 1017 100 ISOL ISOLATOR - IL07BL (R) 0858 AAE 2 ISO1,2 
319   3 2809 0002 000 CONN 2PIN BERG STICK (M) ST. 10MM 1 JP1 
320   3 2999 1003 000 IC SMD LM 61CIM3 SOT-23 1 D1 
321   3 2999 1004 000 IC LM 2904M SO-8 4 U6,9,11,12 
322   3 2999 1004 500 IC LM2940 SMD IMP 5.0 V 1 U8 



323   3 2907 0077 005 IC IC NJM78L05A-SOT89 1 U1 
324   3 2148 1001 980 MLCC MLCC - 10PF 500V, ±10 3 C24,36,37 
325   3 2148 4701 980 MLCC MLCC - 47PF 500V, ±10 1 C34 
326   3 2360 0128 000 TRAN MMBT2222A 2 Q2,5 
327   3 2360 0138 000 TRAN MMBT3906LT1 SOT-23 2 Q1,3 
328   3 2010 3301 303 CHR 33E,1/16W,5%,0603 1 R21 
329   3 2010 1811 303 CHR 180E,1/16W,5%,0603 2 R23,24 
330   3 2922 0010 000 IC IC - Gain Block - ASG-201 2 U7,3 
331   3 3900 2330 250 PCB PCB - 30 DBM 900 1   

332   3 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 1 JP2 
333   3 2835 0009 001 CONN DB9 (M) R/A PCB MNT.(FOR PA) 1 J4 
334   3 2351 0003 000 TRAN IRF4905 1 Q4 
335   3 2814 0004 100 CONN 4PIN (2x2) PWR R/A (M) CONN 1 J3 
336  2 2360 0045 904 TRAN MRF 09045LR5 1 U4 
337  2 2837 0039 000 CONN CONN SMA(F) 4H 5MM PANEL MOUNT 2 J2,1 
338  2 7105 0008 100 SCW PAN M2.5X6 PH.SS 60   

339  2 7351 0002 100 WSHR PLAIN WASHER M 2.5 SS 25   

340  2 7107 0009 000 SCW PAN M2X8 PH SS 2   

341  2 4500 0503 000 SPCR TEFLON RING SPACER FOR PA 1   

342  2 2830 0003 000 JUP MINI U_LINK (F) BLUE 1   

343  2 7354 0005 000 SHEET INSULATION SHEET TO 220 1   

344  2 4900 3088 999 ENCL ALU. ENCL - PA 30 dBm (900) 1   

345  2 2114 1041 413 CHC 100KPF ±10%,0603,16V 1   

346 1 1903 1133 450 MOD LNA - 900 MHz (HITTIT) 2   

347  2 1904 1133 450 ASSY PCB ASSY - LNA 900 (HITTIT+ASX201) 1   

348   3 2010 0000 303 CHR 0E,1/16W,±5%,0603 1 R20 
349   3 2010 5112 303 CHR 5.1E,1/16W,5%,0603 3 R1,8,15 
350   3 2010 5101 303 CHR 51E,1/16W,5%,0603 4 R5,6,12,13 
351   3 2010 9111 303 CHR 910E,1/16W,5%,0603 6 R2,3,7,9,14,16 
352   3 2010 1031 303 CHR 10K,1/16W,5%,0603 7 R10,17,30,31,32,33,34 
353   3 2010 1631 303 CHR 16K,1/16W, 5%,0603 2 R4,11 
354   3 2010 1011 303 CHR 100E 1/16W 5% 0603 1 R18 
355   3 2114 6812 343 CHC 6.8PF 50V +/-0.25%,0603 2 C10,18 
356   3 2114 1011 343 CHC 100PF 50V ±5% 0603 7 C2,12,15,20,23,24,27 
357   3 2117 1031 443 CHC 10KPF 50V ±10% 0603 5 C3-6,8 
358   3 2114 1041 413 CHC 100KPF ±10%,0603,16V 11 C13,21,25,26,42-48 
359   3 2117 1021 443 CHC 1KPF 50V ±10% 0603 3 C11,16,19 
360   3 2114 5012 843 CHC 5PF,50V,€0.25PF,0603 2 C9,17 
361   3 2115 1061 412 CTNC 10MF, 16V ±10%B 6 C7,14,22,41,49,50 
362   3 2114 4012 843 CHC 4PF 50V€0.25PF,0603 1 C1 
363   3 2295 5632 302 CHCL 56NH,±5% 1008 2 L4,5 
364   3 2295 3332 302 CHCL 33NH,5%,1008 1 L2 
365   3 2295 1832 512 CHCL 18NH,20%,1008 1 L1 
366   3 2240 0090 000 CFB SURFACE MOUNT BEADS/FB 2 JU1,2 
367   3 2997 0025 000 IC IC - HMC 372 LP3 1 U1 
368   3 2922 0010 000 IC IC - Gain Block - ASG-201 2 U2,4 
369   3 2997 0021 000 IC IC-HMC273 MS10GTR 1 U3 
370   3 2003 1001 000 NTC RESISTOR PXV1220S-5dB-N1 1 NTC 
371   3 2999 1008 000 IC IC AT108 ATT LIN SMD 1 U5 
372   3 2999 1004 500 IC LM2940IMP 5.0 / NOPB SMD 1 U8 
373   3 3900 1133A450 PCB PCB - LNA WITH HITTITE 900 REV A 1   

374  2 2837 0030 000 CONN SMB(M) Bulk Head 2   

375  2 2802 0025 008 COVR CONN COVER 8 HOLE 1   

376  2 3201 0010 251 PCB PCB - 8 PIN FILTER CONN. 1   

377  2 2809 0040 000 CONN 40 PIN BERG STICK (M) 20MM LONG 0.2   

378  2 7107 0028 300 SCW Pan Head M2X6 PH SS 10   

379  2 4900 1016 999 ENCL ALU.ENCL- LNA - HITTITE 1   

380 1 1904 0410 999 ASSY PCB ASSY-SUPERVISORY V2.0 1   

381  2 2010 1021 303 CHR 1K,1/16W,5%,0603 7 R9-14,19 
382  2 2010 1031 303 CHR 10K,1/16W,5%,0603 4 R4-7 
383  2 2010 2021 303 CHR 2K,1/16W,5%,0603 1 R3 
384  2 2010 3331 303 CHR 33K,1/16W,5%,0603 1 R1 
385  2 2010 4721 303 CHR 4.7K,1/16W,5%,0603 3 R2,8,15 
386  2 2114 1041 413 CHC 100KPF,10%,0603,16V 13 C7-19 
387  2 2083 4721 310 RA RESPACK4.7K 5%(SIP9) 6 RA1-5 
388  2 2114 2201 343 CHC 22PF 50V€5%,0603 2 C1,2 
389  2 2115 1051 410 CTNC 1MF 16V€10%,A 4 C3-6 
390  2 2309 0004 000 DIOD MMBD914LT1 1 CR2 
391  2 2360 0128 000 TRAN MMBT2222A 1 Q1 
392  2 2415 0001 005 IC MCT 2E PDIP06+C372+C349 3 U8,9,15 
393  2 2600 0017 100 LED LED (3MM) BLUE 1 CR4 
394  2 2600 0017 000 LED LED ( 3MM ) GREEN 1 CR1 
395  2 2781 0055 100 CXTAL CHXTAL 5.0688MHz/20PPM/PR 1 XTAL1 
396  2 2809 0002 000 CONN 2PIN BERG STICK (M) ST. 10MM 1 J3 
397  2 2804 0006 000 CONN 96FULLEURO STD(M)R/A 1 J2 
398  2 2821 0005 000 CONN 5 PIN SIP CONN (M) 1 J1 
399  2 2935 0007 001 IC MM74HC574WM 2 U11,12 
400  2 2942 0145 001 IC MC 74HC4051 SMD 2 U3,4 
401  2 2942 0147 001 IC MC 74HC4053 S016 WIDE 1 U16 
402  2 2943 0001 001 IC MC74HC154 SO-24 1 U2 



403  2 2953 0106 001 IC MC 74HC541 SO-20 2 U13,14 
404  2 2954 0109 100 IC IC MAX3237ECAI SMD 1 U7 
405  2 2965 0004 000 IC IC PIC 18F8621 I/PT 1 U1 
406  2 2999 1003 000 IC SMD LM 61 SOT-23 1 U6 
407  2 2999 1004 000 IC LM 2904M SO-8 1 U5 
408  2 2803 0020 100 CONN 20PIN IDC R/A M (INTER LOCKING) 1 J3 
409  2 3900 0410 900 PCB SUPERVISORY PCB 1   

410 1 1923 0901 419 MOD DUPLEXER - CDMA 15MHz - 806-869 2   

411  2 4900 2035 999 ENCL ALU.ENCL- 835-850MHz DUPLXR 1   

412  2 4900 0017 700 RSNR RESNATR 45X9.0mm - DUPL.15MHz B/W 14   

413  2 4900 3045 500 RESN RESONATOR 44.5X6.3mm FOR 806-866MHz DUP 4   

414  2 4900 0007 150 TSCW TUNNING SCREW M3X15 5   

415  2 4900 0007 160 TSCW TUNNING SCREW M3X10X0.5 BRS SL PLT 2   

416  2 4900 0007 180 TSCW TUNNING SCREW M3 x 18mm(BRS SL PLT) 8   

417  2 4900 0007 350 TSCW TUNNING SCREW M3 x 20 x 0.5 mm 1   

418  2 4900 0007 418 TSCW TUNNING SCREW M3X24(0.5mm PITCH) 4   

419  2 4900 0007 360 TSCW TUNNING SCREW M3 x 30 x 0.5 mm 20   

420  2 4900 0007 370 TSCW TUNNING SCREW M3 x 35 x 0.5 mm 2   

421  2 4900 0007 500 TSCW TUNNING SCREW M3X40X0.5mm(BRS S PLATED 4   

422  2 2837 0003 500 CONN PANEL MOUNT N-F CONN(D5) 1   

423  2 2837 0018 000 CONN SMA (F) 4 HOLE 15MM-full length bare contact 3   

424  2 7243 0003 100 NUT NUT M3 SS 28   

425  2 7107 0003 100 SCW PAN M3X10 PH SS 4   

426  2 7107 0001 100 SCW PAN M3X6 PH SS 4   

427  2 7105 0008 100 SCW PAN M2.5X6 PH.SS 12   

428  2 7105 0009 100 SCW CSK PHILIP M2.5X8 SS 14   

429  2 7109 0098 000 SCW CSK M2X6 SS 8   

430  2 4903 0903 931 COVR MODEM CONNECTOR DUMMY COVER 1   

431 1 1905 0005 760 ASSY MOLEX 5P (F)- OPEN L-760 mm 1   

432 1 1905 0227 000 ASSY CABLE - 13P (F) ASSY (2 R -27) 1   

433 1 1905 0012 062 ASSY MOLEX 12P (F) 8 WIRE (R-30/2R-27)L-62CM 1   

434 1 4900 0081 600 PLAT ALU. MOD'LE HOLD PLLAT - 4 R-20/30 2   

435 1 4900 0081 999 ENCL ALU. ENCLOSURE - 4 R-20/30 1   

436 1 4900 0016 400 CLMP ALU. DUPLXR CLMP- Indoor SBROU-30/37 2   

437 1 2997 0011 000 PSU SMPS - 7V/5A, 12V/0.8A, 27V/3.5A 1   

439 1 2502 0022 300 CABL CABL-SMA(M)-ST.SMA(M) R/A S/F 2.2 L-300 1   

440 1 2502 0003 110 CORD POWER CORD L-1.5M 1   

441 1 2502 0022 221 CABL CONN.RG405-SMA(M)-ST.SMA(M) R/A L-210MM 1   

442 1 2502 0036 400 CABL CABL.RG402-SMA(M)R/A(M)R/A-400mm 2   

443 1 2503 0010 000 WT WIRE TIE 100MM 5   

444 1 2502 0022 250 CABL CABL-SMA(M)-ST.SMA(M) R/A S/F 2.2 L-250 2   

445 1 2502 0005 900 CABL CABLE-5P (F) MOLEX EMI FILTER L-42CM 1   

446 1 2830 0003 000 JUP MINI U_LINK (F) BLUE 1   

447 1 2817 0005 001 CONN 3 PIN MIC CONN (M) 1   

448 1 1904 0410 001 ASSY PCB ASSY - SERIAL TO USB 1   

449  2 2114 1041 413 CHC 100KPF ±10%,0603,16V 5 C1,2,3,6,7 
450  2 2115 1051 410 CTNC 1MF 16V ±10%,A 2 C4,5 
451  2 2843 0009 200 CONN DB9 CONN R/A (M) (FOR M.B.)/4 PIN SIP CONN(M 1 J2 
452  2 2999 2102 000 IC IC - USB CHIP 2CP 2102 1 U1 
453  2 2964 3243 000 IC IC - SP 3243 EUCA (SIPEX) 1 U2 
454  2 2837 2102 000 CONN CONN - USB PCB MOUNTABLE 1 J1 
455  2 3900 0410 001 PCB PCB - SERIAL TO USB 1   

456 1 1905 0012 062 ASSY MOLEX 12P (F) 8 WIRE (R-30/2R-27)L-62CM 1   

457 1 2502 0010 921 CABL 9 PIN D-Type (F-F) 21cm 2   

458 1 2502 0010 970 CABL 9Pin DType- 4 Pin Sip- 70CM 1   

459 1 2502 0010 424 CABL 4WIRE CABL F-F SIP L-30cm 1   

460 1 4900 2109 150 STUD STUD (I/D / O/D) - 15 mm HEIGHT 9   

461 1 6002 4002 000 CD BLANK COMPACT DISK WITH COVER 1   

462 1 2502 0009 026 CABL CABLE - D9 ( F-F) DTA CNTR FLAT L-26CM 1   

463 1 2502 0009 044 CABL CABLE - D9 ( F-F) DTA CNTR FLAT L-44CM 1   

464 1 2512 1001 400 CABL USB CABLE - USB TO USB L-1.5M 1   

465 1 2502 0004 200 CORD POWER CORD L-2 (US TYPE) 1   

466 1 2502 0022 060 CABL CABLE S/F - SMA(M)-SMA(M) L-60MM 1   

467 1 2502 0022 080 CABL CABLE S/F - SMA(M)-SMA(M) L-80MM 1   

468 1 2502 0022 365 CABL CABLE S/F - SMA(M)-SMA(M)R/A L-365MM 2   


